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*
*
*
* If ((arr.length==0) || (arr contains only NaNs))
* returns Infinity.
* Otherwise, returns the minimal value in arr.
*/
public static double min2(double[] arr) {

double m = Double.POSITIVE INFINITY;

for (double x : arr)
m=(x<m?x:m;

return m;

/*

* precondition:

* 1) arr '= null

* 2) arr.length > 0

* 3) arr contains only numbers (no NaN or +infinity)
*

* postcondition: Returns the minimal element in arr
*/
public static double minl(double[] arr) {

double m = Double.POSITIVE INFINITY;

for (double x : arr)

m=(x<m?x:m;
return m; X7 minl -7 axMpa ox "' nn
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precondition: true

returns NaN
Otherwise, if arr contains only NaN - returns Infinity.
Otherwise, returns the minimal value in arr, ignoring any NaN|
*/
public static double mind4 (double[] arr) {
if (arr == null || arr.length == 0)
return Double.NaN;

*
*
*
* postcondition: If ((arr==null) |[* (arr.length==0))
*
*
*

double m = Double.POSITIVE INFINITY;

for (double x : arr)
m=(x<m?x :m;

return m;
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/*
* precondition: arr != null
*
* postcondition: If (arr.length=0) returns Infinity.
* Otherwise, if arr contains NaN - returns NaN.

* Otherwise, returns the minimal value in arr.
*/

public static double min3(double[] arr) {

double m = Double.POSITIVE INFINITY;

for (double x : arr) {
if (Double.isNaN(x))
return x;
m=(x<m?x :m;
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return m;
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/*

* precondition: true

*

* postcondition: If ((arr !'= null) &&

* (arr.length> 0) &&

* (arr contains only numbers))

* returns the minimal value in arr.

* Else, the return value is undefined.
*/
public static double min5(double[] arr) {

if (arr == null)
return 0;

double m = Double.POSITIVE INFINITY;

for (double x: arr)
m=(x<m?x:m;
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return m;
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int[] array = null;

int maxSpan;

array = new int[l{1, 2, 1, 1, 3};
maxSpan = MaxSpan.maxSpan (array) ;

if (maxSpan !'= 4) {
System.out.println (Arrays. ing (array) + " 4, result: "+ maxSpan);
} else {

System.out.println(Arrays.toString(array) + " correct!");
)
array = new int[1(1, 4, 2, 1, 1, 4, 1, 4};
maxSpan = MaxSpan.maxSpan (array) ;

if (maxSpan != 7) {

+

System.out.println(Arrays.toString(array) + " expected: 7, result: " + maxSpan);
} else {
System.out.println(Arrays.toString(array) + " correct!");

}
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public static int maxSpan(int[] array) {
int max = 0;
for (int i = 0; i < array.length; i++) {
int j = array.length - 1;
for ( ; 3 >=i; j--) {
if (array[i] == array[j]) {

break;

}
int span = j - i + 1;
if (max < span) {

max = span;

}

return max;
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import java.util.Arrays; =
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import il.ac.tau.cs.swl.maxspan.MaxSpan; ™
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public static int maxSpan(int[] nums) {
int max = 0;
for (int value: values(nums)) {
max = Math.max(max, span(value, nums)) ;
}

return max;
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private static int lastIndexOf(int value, int[] nums) {
for (int i = nums.length - 1; i >=0; i--) {
if (nums[i] == value) {

return i;

}
// should never get here
return -1;
}
private static int firstIndexOf (int value, int[] nums) {
int index = -1;
for (int i = 0; i < nums.length; i++) {

if (nums[i]

value) {
index = i;

break;

}

return index;
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private static int span(int value, int[] nums) {

return lastIndexOf(value, nums) - firstIndexOf(value, nums) + 1;

private static int[] values(int[] nums) {
int[] values = new int[nums.length];
int nextIndex = 0;

for (int i = 0; i < nums.length; i++) {

if (!contains(values, nextIndex, nums([i])) {

add(values, nextIndex++, nums[i]);

return Arrays.copyOf (values, nextIndex);

AL

private static void add(int[] values, int position, int value) {

values[position] = value;

private static boolean contains(int[] temp, int tempLength, int value) {
for (int i = 0; i < tempLength; i++) {
if (temp[i]

value) {

return true;

}

return false;




